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PART - A (GENERAL KNOWLEDGE)

1. In terms of area, India is the _latgest country of the world,
(A) second (B} fourth (C) sixth (D) seventh
sl @1 gfte W 9Ra g @ g g &7
(A) FET (B) e (C) B2 (D) e

2. Who is the author of the book ‘We Indians'?
(A) Khushwant Singh (B) Mulk Raj Anand (C) Nirad C. Chaudhary (D) Subramanya Swamy
M G, W e @ vas 87
(A) T e (B) o It amHE (C) #vE o ol (D) gaHvs wnd]

3. The ozone layer absorbs _
(A) infrared radiation  (B) microwaves  (C) radio wave (D) ultraviolet rays
IS oe sraenfis e ol &

(A) ¥avag fafdwor (B) wEeRa (C) »fr a9 (D) TR fawof

4. Jawaharlal Nehru award is given for :

(A) Government science (B) Literary work

(C) International Understanding (D) Social Wark

TAEYAT 56 Wi fhae foe R o 82 /

(A) T fasm (B) wridfcas =

(C) seRi=g Tas (D) qrefrs F7
9. Which of these keys is not on the number keyp

(A) Ctrl (B) Del fiter (D) Num Lock

T | BF W Fel T il w LY

(A) T (B) o (C) Yex (D) 9 #fi®
6. The total number of judges of thé Intemnational Court of Justice (1C1) is :

(A) 10 (B) 12 (C) 15 (D) 18

HTETA AT (i) § e @) w9 wen G 2

(A) 10 \ ™) 12 (C) 15 (D) 18

7. Which one of the fallowing pairs is not correctly matched?
(A) Kalinga Awird : Popularization of Science (B) David Cohen Award : Literature
(C) Borlaug Award : Agriculture (D) Pulitzer Prize : Progress in religion
PR 4 s oS 3 B odid & T8 P T 89
(A) BT FR : e & dafig a9 (B) 2 #1e wemR - wiftw
(C) AT G : HHY (D) gfereon gRam : o #

8. Where did India play its 1" one day international match?
(A) Lords (B) Headingley (C) Taunton {D} The Oval

RS A U UBS Udfeadry e du w8 wan or?
(A) TTEH (B) efE (C) Traeq (D) 3iraer



d.

10.

11.

12.
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PART - A (GENERAL KNOWLEDGE)

What 1s URL?

(A) It is software used in the defragmentation of disk of computer.

(B) It 15 software 1o make the computer sereen bright.

(C) It is specific character straight that constitutes a reference 1o an internel resource.

(D)) It is a specific uniform alignment of the computer software 1o make run it faster.
URL=m & " :

(A) WE BUEY © (6w & @Wel @ U@ @A § §RE 8 are Siveday &

(B) TE ey GRF ! TNHER A $ oy Siredas #

(C) oE faftre dvace & & & et wueE & f9e S5e9 @1 e e &

(D) & Folt 4§ a9 & foy F9ge divcaay & e gwEwm aEETE B &

The north pole of the earth’s magnet is near the geographical

(A} south (B) east () west i) north O
Tl & gawm @ Sed g9 o Hferw ® e g

(A) =fior (B) gd (C) af¥=m (D) @’
Which one of the following is not a plantation crop? '@

(A) Tea {B) Coffee (C) Rubber ugarcane
T | S o aemE wae T 8 @,

(A)ET (B) ®IH! (C) s 0 (D) 7111

Manav Seva Award has been instituted in the me Qﬂh

(A) Dr. Rajendra Prasad i

(C) Acharya Vinoba Shave
A Ha qees e wfa § et

(A) BT. TEls W9E glaw T

(C) amerd A= o ) Xratra e

What was the pen name of Banki Chattopadhaye?

{A) Kamla Kant (B) Ag ' (C') Jarasandha (D) Dhananjoy Bairagi
fehe v WEIL W o7 :

(A) AT Hi { & (C) THTHE (D) &= &

Where do you find l@ﬁ’md calendar in/on your computer?

{A) Task Bar {B) Recycle Bin {C) Library (D) Start Menu

3T S udt afte Pefaw a1 A ?

(A) T (B) femseet fis (C) smgad (D) F=TE #F,

15, When did Humayun first attack Chunar fort?

{A) AD 1531 (B) AD 1532 (C) AD 1533 (D) AD 1536

wEwE A g e W ugen gHen ®4 R o
(A) AD 153] (B) AD 1532 (C) AD 1533 (D) AD 1536

16. Mouse technique used for access in properties of any object 15-

(A) Dragging (B) Dropping (C) Right clicking (D) Shift clicking

el awg & il A e @ fog S @ o el aee aede § -
(A) Ef By gl (C)wEe frafsnr (D) fime e
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17. The Term *Butterily stroke’ is adsociated with:

i{A) Kabaddi (B) Wrestling {C) Swimming (D) Rowing
‘TeRges i e W@e | waee @7
(A) Tag (B) Y (C) erdy (D) e

18. What is the term applied to evolution of vegetation so that it becomes increasingly adapted to its

environment?
{A) Organic evolution  (B) Plant succession {C) Climatic climax (D) Adaptation

vty & fawra & fon e wes & swme fvn o s o Ol @ @9 TR § S9E

Bl W?
(A) W s (B) TS A (C) Werary aedEEd (D) B\j@
19, Which of the following gas do not considered as polluting agent of air? O

(A) CO; (B) CO (C) NO: (D) SO,
ol | fFw B A F WEHE Yeie g A e M
(A)CO, (B) CO (C) NG, . 2
20. The oldest coal-field in India is \}
(A) Ranigani (B) Jharia (C) Bokaro (b (D) Karanpura
AW H QU HIAT EF §
(A) TR (B) s (C) (D) FTTGH
21. 15" Aupust is the Independence Day of Indi -
{A) South Korea (B) Indonesia o "hina (D) Pakistan
15 anTee WNE AR f@e g9 oy ?
(A) T SR (B) s:m;;% C) A (D) wfdr
22. *World Food Day’ is celebrat %
{A) Oct 15" (B) (C) Oct 12" (D) Oct 16"
awg amen fRaw faw wie &7
(A) 15 3TFTEN T (C) 12 IR (D) 16 reF(ay
23, The Academy Awand is also known as 3

(A) Matthews A (B) Oscar Award  (C) BAFTA Award (D) Palm’s de Affaire

uHSH a9 A A AT o -
(A) (B) s @ (C) 9rer ats (D) OTFH & b

24. The largest standing army of the Sultanate, directly paid by the state was created by

{A) Htutmish (B) AlauddinKhilji
(C) Mohammad-bin-Tughlag (D) SikanderLodhi
Ao # wAE wE e 9, rEeT doe 4l e g R wen an, & Ted e e e
(A) gegfam B EGICHERCEE
(C) HEsE—faq-gras (D) Frmge @rd)
25. A Computer portable and easy to carry by travelers is-
{A) Super computer (B) Laptop {C) Minicomputer (D) File servers

it & fom uidas o & @F A e BYEY § - )
(A) U HYSY (B) TT9eT (C) i FEY (D) TIEE HaY
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26. A sum of Rs 600 amounts to Rs 720 in 4 vears. What will it amount to if the rate of simple interest is

increased by 2%7

B00 T I eI 4 o A 720 © & W &) g wREW @ @ 5w F 2% 9 =y 5 9
G o ae fee 8 e
(A)Rs 724 (B) Rs 648 (C) Rs 768 (D) Rs 792

27. A and B together can complete a picce of work in 8 days while B and C together can do it in 12 days.

28.

29,

30.

31.

32,

33.

All the three together can complete the work in 6 days. In how much time will A and C together
complete the work?

(A) & days (B) 10 days (C) 12 days (D) 20 days

A ¥R B fAaa 5l @™ ot 8 fam F qo o wosd & wafs Bal C fasy s 12
fos 4 g =% W €| f A Preew 99 oW 31 6 B9 F g w9 w9 #) AW © firaew
a6 M B e & d qn w7

(A) 8 fam (B) 10 f&= (C)12f&= (D) 20 fa=

Find the value of:

fr=fafam & a9 o w37

0.07 = 0.07 = 0.07 — 0.05 = 0.05 x 0.05 -2

0.07 x 0.07 4+ 0.07x0.05 + 0.05=0.05

(A)0.002 (B) 0.02 (C)0.2 (DY0.0002

Moving Eaf its usual speed a train is 10 min late. Find its usual time to cover the journey.

{A) 25 min (B} 15 min {C) 35 min (D) &0 min

ao W R @ 2 W e g 10 B 0 @ 2 W w w @ R 9w e
99y qOTET 7

(A) 25 fafe (B) 15 fafae (O35 fafre (D) 60 fafre

6 boys can complete a piece of work in 16 h. In how many hours will & boys complete the same work?
;Hﬁﬁrﬁmaﬂmﬂ#@ﬁmtlEﬁﬁaﬁmﬂﬁmﬁﬁﬁ#waﬂﬁﬁ

¢

(A) 10 (B) & (C)12 (D) 14

The average age of 40 students of a class is 15 years. When 10 new students arc admitted, the average
age 15 increased by 0.2 years. The average age of the new students is:

{A) 15.2 years (B) 16 years {C) 16.2 years (D) 16.4 years

ww W 40\ Fenfdt B s ey 15 3 &) R 10 wa favg o # ar s
arg 0.2 ™4T w81 0 Rofit A st o &

(A) 15.2 | (B) 16 | (C) 16.2 911 (D) 16.4 H{TA

Find the value of:
fr=fafta &1 59 a9 2
TEI =0 +0.75=7
(A) 130 (B) 124 (C) 118 (D) 116

The speeds of three cars are in the ratio of 2 : 3 : 4. Find the ratio between the times taken by these cars

to cover the same distance,

AR wRT A TR 2:3:4 9 U ¥ U @ T B w F 1 R gw faw o
@ dra T ST |

(A)2:3:4 (BY4:3:2 (C)4:3:6 (Dy6:4 ;3



DMMT/D74/Page 7 of 16
PART B - (NUMERICAL)

34. Find the value of:

2707 .
?—27 07
2707
— = 27 07 F 911 - T
N 7.0 1G]
(A) 10 (B} 104} {C) 1000 (D) 10000

35. How is %% expressed as a decimal fraction?

i%aﬁwmﬂaﬁaﬁﬁmﬁﬁmmﬁﬁmmﬁrﬁ?

(A) 0.0005 (B) 0.005 (C) 0.05 (D) 0.5

386. 9 2_ -588)2
St (999+588)% —(999-588)" _ 9
999 x 588
(9994 58)%-(999-588)" 0
B W 999 « SHE e
(A8 (B)3 (C)2 ()4
37. 1f 30% of A = 20% of B, then find the value of A : B.

IR A T 30% =B 20% & @ A:B B AW W FHT
(A)1:3 (B)3:2 (€)3:1 {D)2:3

38. At what percent annual compound inlerest rate, a gertainsum amounts to its 27 times in 3year?
firer Wi aifte weegfy @ o W U@ Pfte e of § el o7 TR @ arh 82
(A} 100% (B) 150% (C)75% (D) 200%

39. A man riding his bicycle covers 150 mefres i 23 seconds. What is his speed in km per hour?
uT i asitea § 25 awe 3050, frex gy wn &) Swe wfy dey iy & 7

(A) 20 km/hr {B) 21.6 km/hr (C) 23 kmvhr {D) 25 kmv/hr

40. A shopkeeper sells eggs at 20 fior'a rupee gaining 30%. How many eggs did he buy for rupee?
TS GEEER O T @ 20/6iE dwm & R 99 30% F1 A g 81 9ET o el A fee
e i o4

(A) 40 {B) 30 (C)35 (D) 26
41. In the given figure, 11 ||tz and £A = 65°, Then £LC =7
ﬂ“ﬂmﬁllulzﬂmﬁhzﬁﬁutfﬁf:t=? 1‘-
' I
(A) 110° (B) 115° Cn(
(C)120° (D) 135° B .l

/

42. Average of ten numbers is 7. If every number is multiplied by 12, what will be the average of new
numbers?

o w4 aftam 7 &) aft uee e Y 12 A o i wren @ o T wened sl
By
(A)7 (B)9 (C) 82 (D) 84
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43. The different between simple and compound interest on a sum of Rs. 2000 for 3 years at 20% p.a.will

be:
{A) Rs. 248 (B) Rs. 236 (C) Rs. 256 (D) Rs, 266
AEw A GEgle W @ 9 @ % 2000 © EAIN @7 3 99 A 20% W ot @ v 9 fweew gm?
(A) Rs. 248 (B) Rs. 236 (C) Rs. 256 (D) Rs. 266
44, Find the value of:
fr=fafaa &1 w7 38 &4
23x 15=60+7=31 =202
(A) 218 (B) 186 (C) 217 (D) 201
45, Find the value of:
Pt &1 59 59 4%

{141+ {14 15(14122)} =2

(A): (B) (© 1 (D)2

46. Find the value of:
frefafs & 9= s
58T x 999 =7
(A) 586413 (B) 5875323 (C) 614823 (DY615173

47, At what rate per annum will the simple interest on aceriainsum of money be 1/5 of the amount in 10

year?
uf =i 5 o w ue Pty el = ammenara 0 o § 99 g @ 1/5 8 Sgm?
(A) 5% (B) 2% (C) 42 (D) 8%

48. A tradesman marks his goods at 30% abowe the CP and allows purchasers a discount of 15%: for cash.
What profit percent does he make? '

U ST AT WA B Geand Y gea W 30% ey fermm & 3w wien # Awe W
15% 9 Be ST &1 98 A & A 87
(A) 11% (B) 9,5% (C) 13% (D) 10.5%

49, Find the value of:
A FT @ |

V5359225 =7
(A) 23.45 (B) 28.25 (C)23.15 (D) 24.15

50. In a forest, ‘there are 15% lions out of 600 animals. Find the number of lions.
T g | 600 TEENT A H 15% 99 #1 INT @ e s e
(A) 90 {B) 95 (C) 115 {D) 85
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51.In the following question identify the correct sentence/s.
(1) One easy answer is water colour pamnting.
(I1) The gentle movement of a brush has a relaxing, de-stressing effect which has also been
noted in activities such as calligraphy.
(I1T) Whalst the mix of colours and there application energises parts of the brain which would
normally get scanned stmulation.

(IV) Couple this to mix this a visual/tactile experience as your painting emerges@nd presto!

(A) Land I1 (B) 11 and IV (C) I and IV (D) 11 and 111
52. Choose the most suitable preposition :

| differ......... YO

{A) from (B) of (C) with (D) for

53. In the following question identify the correct sentence/s,
(1) I really think he overstayed his case, and lost a lovof Sympathy.
(I1) The plane’s undercarriage failed to open and, it trashed.
(1I) A detailed list of the participants in the seminar is given overleaf.
(IV) Rajendra has a very overbearing persanality.

(A) LI and I'V (B) I and 111 (C)Iand Il (D) IV only

54.Find out which part of the sentence has an error, If there is no mistake, the answer is (D).
My uncle frequently goesdo @broad (A) on business (B) / by air, (C)/ No error (D)

-

55.Find the synonym of'%

LIBERTY
' (A) Obhgation (B) Rights (C) Freedom (D} Democracy
56. Choose thesuitable option that describes the meaning of the words or phrases printed in

italics in the following sentences :

She was in @ brown study and did not notice my entrance

{A) reverie (B) fear (C) dream (D) sleep
57. Antonym for :

EXPEDITE
(A) extract (B) distract (C) delay (D) defend
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58. Find out the error part of the following sentence :
She was so (A) emotional stable that (B)/ she was not moved (C)/ by their decision (o
suspend her. (D) ;

59. On the basis of the given sentence pick out the correct sentence converted in Interrogative
from the given options :

The children are playing.
(A) The children shall be playing .. (B) have The children to play?
(C) children The will be playing? (D) Are the children playing?
60. Choose the option that describes r.hr:mﬂlﬁﬁs of the following idioms and phirases :
To keep nn&l‘stcnq:cr: | o
(A) to become angry .. (B)tobe ina good mpod
(C) to preserve one’s energy (D) none of these
61, Fill n the blanks with sppropriate conjundtion : = (_

I wish T .......osee.... more, when T was _ _
(A)bad studied (B would have stadied (C) would m:i_srudifg
EE.{]ﬂﬂlﬂhasiEnfthegh'cnseﬂmttpifk ;he%&mﬁenmmnveﬂndmmp
Continuous Tense from the given opti : ;

p ¢ ; ) &
(A) T will miss a good chafice i (B) I will have missed a good change
(C) 1 will be missing a good chance (D) I will be missed a good chance.
63. Find the synohymof :
DETECT. i 1
(A) Discover (B) Invent 3 .
(C) Determine (D) Fix ;

64.Find out the error part of the following seatence 1 =

The culprits of (A)/ the bomb explosion ht:w.re (B) not yet (C)/ been discovered. (D)
g5, Analogies for :

GLASS : SHARD ::

(A) wood : splinter  (B) rock : stone
(C) soil : earth (D) wood : tree
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66. Fill in the blank with appropriate given option:
Who are ....... people that are standing there in the street?
(A)a (B) an (C) the (D) that

67.Find out which part of the sentence has an error, If there is no mistake, the answer is (D).
Rana Pratap was (A) / blind with (B) / one eye. (C) / No error (D)
68. Analogies for :

PIPE : WATER ::

(A) sofa : furniture  (B) fan : air
(C) door : look (D) chimney : smoke

69. Antonym for :

FEARLESS

(A) intrepid (B) craven (C) vacillate (D) oscillate
70. Antonym for : ;

MISLEAD -

(A) alter (B) separate %C} malady (D) apprise
71. Choose the most suitable preposition s

Since he is ill, he is confined....... " bed.

(A)in (B) on (C) to (D) of
72. Find the synonym of :

RANGE

(A) Level “(B) Expanse (C) Grade (D) Standing .

73. Fill in the blank with appropriate given option:

The Bibleis........ Ancient book of Christians.

(A)a (B) an (C) the (D) that
74.Fill in the blanks with appropriate conjunction :

| FERREERS my second boat, when 1 was 26.

(A) bought (B) buyed (C) bort (D) bied

75. Find out which part of the sentence has an error. If there is no mistake, the answer 15 (D).
The Indian force (A) / drove away (B) / the Chinese. (C) / No error (D)
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76. Pointing to a boy in photograph Akhil says, “"He is the son of my mother’s only son’s son”. How is
Akhil related to that boy 7
(A) Uncle {B) Brother (C) Father (D) Cousin
BT § Ue wee # A% gOR w9 Y aftre e & Car 4% u @ e 9 w0 @ B | e
w1 99 oS W 9 Hey fY
(A) Tran (B) e (C) firem (D) wrirey wimé ()

77. Vijayan started walking towards South. Afier walking 15 m, he tumed to the left and walked 15 m. He again
turned to his left and walked 15 m. How far is he from his original position and in which direction?
(A) 15 m, North (B) 15 m, South (C) 30 m, East (D) None of these
frcre 3 =T @) sie wen e fea an) 15 Wie 99§ a1, 98 ol iR e a ahyas wWiew =
mlﬁﬂngm:ﬂﬁifﬂ!mﬁrmamﬁﬂmmmlmnmﬁﬁﬂm_ e 53 air
faws formm ® &5

; i)
(A) 15 drer, eor (B) 15 e, afém  (C)30 7R, @ (D) 374 i'%!‘*rré?

78. In the following question, which one of the four Answer Figures on the right should come afler the
Problem Figures on the left, if the sequence is to continue? N
fmfeftn wes #, afs 2910 & TG A AT O W G arHiaA @ g i as WU
IR gt # @ wE- :
Problem Figure / HIT

Y ( ﬂ@T‘?\* (S

79. In the following question, which one of the four &nswer Figures on the right should come after the
Problem Figures on the left, if the sequence is tinoe?, . .
Freifafira we A afd srgws 90 ot o Te B wEe Aphd ® s w7l T
# AR Sav gl 4 W P STl S
Problem Figure / S79%] STHf . Answer Figure / 9% SITHf

80. In a certain code, IN TU ON is written as NOITUTITSNL How is PERFECTION written in that
code? AN
e FifYae F18 % INSTITUTION #1 NOITUTITSNI & %4 ¥ foran onen & & 9wt =rs A
PERFECTION. 1 @9 feran wmr #7 '
(A) NOICTEFREP  (B) NOITCEFERP  (C) NOITCEFRPE (D) NOITCEFREP

81. In the following question, which one of the alternative

figures will complete the given figure pattern”
fr=ifarfion v & dofeus sl § 9 w0

argfy faw g sy ded @1 o ey

82. In the following question, which one of the altenative
figures will mmg:lf:tc the given figure pattemn?
Fopfafir wes

| defoqs i
m—mm@mﬁqmmmﬁwﬁm?
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;a In the following question one number is missing in the series. You have to understand the pattern of

the senies and then insert the missing number.
Frafe siwmren # g sis mua ¥ | Sowr IW @ @ fe @ wReEn v R maw ol A

ferm B
- 8, 16, 32, 64, 128, 256
(A)2 (B)3 (C) 5 (D)4

. In the following question, four peositions of the same

dice have been shown. See these figures and select the = E r"f *. A B
number opposite to the number as asked in this question. A L% * A
frfafas v # oo & ot & aw fefei s #| ; .
T gt B 3 ik wen # Pl wen @ e B s T 0
- T G §E A A geT T 87 -
Whl:hsymbulwiﬂmnucppnsltcwu}mbulﬂ? -
it O & Rvde -1 udies ameme. \'}PL‘ - s !
|E_‘;B:I qL . {D} ﬂ‘” \0 ' i
following one term in g;ﬁ.‘itﬁismﬂu.g.m term.
=Tifehe fﬂwmﬁaﬁﬁr 0E o Y| “,:“-‘ 3
9, 164, 525, 421, 749 (af@ A
. B2 ©825 w9 T

ves older than fier
(©)20 e
!?‘wﬁtrmﬂfu‘rmé m‘qmﬁﬂ' ‘l'f
2 P | - o
matives contain letters of the alphabet placed in a particular il
& e v @ v @ v T §) e B {
i

(D) 18

N m-h L8 il
H.Amhwmﬁnmmgmw'uﬁ then select the appropriate sequ
alternatives provided below: ?d '

:i 5 i L Commumni Tannie

1. o 2. wEr 3. aj&w
1 (A)3,1,2,4,5 (B)3,1,2,5.4 (C)3, 1 425 (D)3,1,4,5,2 4
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90. In the following question four words are given, out of which three are same in one way or the other and the
forth one is different from the other three. Select the odd one.
{A) Snapshot (B) Diagram (C) Sketch (D) Painting
frfafiaa uea # v we Ry oo # Rl & &9 v o o g ofd § 0 s e when vy
3= M TeEl W ST § | ST e W e W |

(A) TaEiTe (B) T (C) =y (D) tifdr
91. In the following question, select the correct option of the
question asked. A E i 1
Which letter will come on the blank surface ? g |P r‘l F ﬁ
frefaftre wwa § @ ™ ue= @ a8 fee &1 999 o |
R e W SE— e e m ()]
(A)C (B) A (©)D (DY E

) |

92. In the following question four words are given, out of which three are same in one way or the other and the
r-urﬂ:ummusdlﬂhmnlﬁ'nmth:mhﬁmrae Select the odd one.

A) Sun (C) Venus (D) Edrth
%\ﬁﬁlﬁgﬁm ﬂﬁmﬁqwiﬁﬂﬂﬁﬂﬁmwwﬁﬂﬁ#mﬂwﬁmmm
A 1 Wt | T ¥ ) ST W T wae Y |

(A) Hrw (B) = (C) 7w (D) et

93, Arrange the words in a meaningful logical order and then the appropriate sequence from the
alternatives provided below:
1. Punishment 2. Prison 3. Arrest : 3, Judgment
vrﬂ*ﬂqmmﬂmm?mmm#maﬂ?ﬁﬂ W 99gaT &9 B g |
1. &8 2, BRER 3, i, 4, 5. wEe
(A)S,1,2,3,4 (B)4,3,5,2,1 {q¢3 50 7 (D) 2,3,1,4,5

94. Choose the correct mirror image ﬁ-umihenhm'ﬁuves
(A), (B), (C) and (D) of the figure gi ;
ol avF § T el & Rwen fB],[C}
mm}#ﬁmmmmﬁrgﬁ[ ":

25

(A (B (©) (@)

95. Choose the correct mirror image from the alternatives
(A}, (B). (C) and (D) of the figure given.
& wé ampfa & fwed (A), (B), (C)
m{njﬂﬂﬂmmﬁwmﬂnaﬂ |

N A ® (© O

96. If in a code language MADRAS EMMN?EQBR,MMLFFTA will be coded as
wmmﬁwﬁ%mmﬁmzﬁqmﬁmﬂwﬁmmtﬂmcmu
ot e W ¥ s RFm @

(A)OZMBVSUB  (B)DZMBVSUZ  (C)DZMBVUUZ  (D)BBKBTUSB

87. Rama travels a distance of 5km from a place *A” mmﬂmﬁ.mlnﬂaudwﬂhlhn.mmmuﬂghlmd
walks 2 km and finally tuns right and walks 3 km to reach the place *B". What is the distance between ‘A’ and
‘B'?

W W w A 9 &) AW 5 fharfey @ g au wew & 9@ gem # o 3 Rranier To @ R
FawT =0 gE # o 2 freriey @ of au e 2 ofw ofeR S0 quan # o wim @ W 9gE @
fore 3 Prarfter 9am &1 F 3 @ 3§ feen o #7

{A) 7km (B) 13km (C) Zkm (D) 10km
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88. How many 5's are there in the following sequence which are immediately preceded by an
even number as well as immediately followed by an odd number 7

| et agme 7 9 e s § foee 9 vee e W W g § o e wie o R
e 1§ 87
854855725666458937
(A)3 (B)2 (C)4 (D) None of these

. A worker may elaim Rs 15 for each km which he travels by taxi and Rs 5 for each km which he drives
his own car. Ifin one week he claimed Rs 500 for travelling 80 km, how many km did he tgwlby
taxi?

v SR S W aed g & vd o & fan pes feender @ faw 15 vl sl aeh e s m:ﬁnﬂm
ﬂm‘rﬁl’mﬂ‘”ﬂjﬂﬁﬁmmElmwwmﬁmﬂﬁiﬂﬂ?ﬁrwﬂﬁﬂﬁwmﬂMWm
e & o I g g fees frEnie o o o 89

(A) 10 (B) 20 (C) 30 40 "\ 4 A

100. Find out the missing number in the following: s
Frifle |iRen # @ S T W - LA

: O\ 17 [ 69
(A) 9 (B) 5 (C) 10 (D21 8§\ 13 ¥ 59

L4

,, |
A\ %

WS

KEPT lg%:ﬂﬁumw BLANK
ROUGH WORK




